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2. Are these sets of ordered pairs points on a lingar Tunction? If yes,
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determine the function (what is the rule?). If no, tell what prevents it
from being a function '

(1,8) (2,20} (3,32) (4,44, (5,568)
a. No, thera is no constant rate of change.

b, No, it is not a Tunchion because one value of x generates more than one
value of {0

¢, Yes, the function is fix) = 12x - 4

d. Yes, the function iz f{xi = -4x + 12

3. Which of the following equations will have a graphk of a zero slope?
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Which set of equations contain exactly 3
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Oz-3x+12x+9 ~3x Q= 2x 7 Y= -2x
{y+3) = 4 ~ 12} -5 = i0xy +1d = -Tx-12 + 8y
Z = Tay{-x ¢ By) X = -5 4z %x -8y

w32 2 -10x
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Sets Y and TT 2. Sets T and ITT

Al of the zats b, None of the sets

The value of v varies d

Find v when x = 30,

What iz the slope-ii

Set IIT only
Sets IT and ITT

directly with x, v = -13 when x = -39,

intercept form of The linear equation 30x « 3y = 187
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7. Points located on the y-
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What are the x and v intercents of 20x - 2y = 107

axis have a y-coordinate of zero.

G. What are the » and v intercepts of the following linear function? Whrite
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intercept form and Then graph.

ion in slope
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Us the relationshin a direct variation? IT so, identify the constant of

s
£l
bed
5

variation?

N H
= H

[
Bt
¥
CAS
Fod
.
oo

17, Write an equation in slope-infercent form for the line through the two

{1,-Iyand (2,13

¢

18, Write an egquation in slope-intercept form for the line Through the two
points.

(4, DYand {-3,5)

19, Write an equation in slope-intercept form for the line that passes
through {2, 3) and i paraile! To The line described by 2x - 3y = 12,



cribe the transformation from the graph of

hen deg

22. Graph f{x) and g(x). Then describe the transformation from the graph

of F{x) to the graph of g{x).

=1/2 w2

g{x}



23. Write the equation of a ling in slope-intercept form thot has a siope of

L

&
1/3 and passes through the point (3, 2}

24, Write the point-glope form of the equation of the line described,

26, Write the standard form of the equation of the line through the given
point with the given slope,

Through (-5, 5) and slope = 5



